
Addition Pâques (D)Obtenez une tulipe pour chaque réponse correcte. Tulipe obtenue: _____/25127 42 116 181 3+ 137 + 87 + 34 + 136 + 111
116 137 175 174 92+ 137 + 85 + 49 + 60 + 38
190 126 16 123 165+ 150 + 154 + 94 + 16 + 138

41 172 120 146 79+ 87 + 18 + 150 + 126 + 147
174 53 187 173 57+ 141 + 15 + 124 + 168 + 129
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Addition Pâques (D) RéponsesObtenez une tulipe pour chaque réponse correcte. Tulipe obtenue: _____/25127 42 116 181 3+ 137 + 87 + 34 + 136 + 111264 129 150 317 114
116 137 175 174 92+ 137 + 85 + 49 + 60 + 38253 222 224 234 130
190 126 16 123 165+ 150 + 154 + 94 + 16 + 138340 280 110 139 303

41 172 120 146 79+ 87 + 18 + 150 + 126 + 147128 190 270 272 226
174 53 187 173 57+ 141 + 15 + 124 + 168 + 129315 68 311 341 186
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